il & 2 £ 2 Q
ity (Ax+8)(CatD)=AC2+4Dx 480 +BD
= AC 2 +(AD+BC)x +BD
s A xit Mx T
a=4C L= (AD+BC) .= BD

Lot Lo of focdrs ard rimeriind %
@ef MMM ’ (z c = ED)
W )W.
e N18) EPTp 22
| = (1) p+(2 6 11y (22
(()%+( (¢ )% )(m‘m (@) ))(z))(cu)
‘>7<> /
-0 ek
Hiuém%é&ﬁw



6,2 &

A x+ b C :”@Wé:

(2) Fw? 2SS w +3

f / 2
(e ONO)x)) | 2 (18 +(z))(:)w+l3)>(ocs)

:E,z,)%

+O0)00) f(D ()03 (3)
+ LZZMMZWW

(32231 Dt Toom st WZZWMWW

, &
Q%l*%x+c | § .
(- CNO)x=0)), ¢) sa-fa o
(<) ( >( ) ?>:(|)?s) :(él)/y*(l)>(<5)A~(?)) (z)(zi
-O0-00 65100 e)

| -5 - ¢



6.2 (3
52) w310 gt 2|

z i

G,, +(3 >)(zr+[7) ()(2)

(3)(7)
7 / 1y S+ 0w+ 2!
SNOERE) - (w4 9)l7)
L2347 e
+ [0

Pr—y

——ee—oe S
_

(F)  &+l¢ b +¥8

(G ) (40) e BB

! 7\ (2)( ) =
- (4) ¥ 65) ca)(L/(:) (4+6)(4+8)
F 6+ 8 (¢)(12)
e (6)(%)

= —_— R

N) 0] #1008

00

(1)(160) 2
(M+</)>(JA+([9°>) (2)(50) ,L(,-}/le,c+/00
7 / (¢)(25) = (Vwﬂ)(uﬂoo)
+ Cl >+ Qoo) e
+[ 4 (00 ((o)((o)

N

e



Z ’
45) gt )34 3¢ 2 2
) 213 2+3¢

(¢~ C;))@ (1)) )08

(3)(12) = [4/ - y/)[¢ /Q)

G&) éq L¥) (%)

g (¢)(s)

-1z

/——_—\
Py

—_— —
o —

- % .7!—20 30
70) e =2 (o(z0) MP=(3 m+20

(= () =) o a-3) (n 1)
7, 71 (3) (l0)
- (3)- @o)

(5)(6)

_3;3[0
1) Y5y Tt 2 st
@)M () @O )
e 7 = (#2)(3-3)
@—) (3) -

~-2-3
=



1¢) bn-7+n

3?*?«171/{72_ 7

(5 +)(»=(1))

r 7

(1) -{ )
+ 7
te

.
()(7)

—_— _—

-
—_—

;5) Jot 24

:XZ+7.9¢ 7&{

{2+ (1)) ()
7 ?
s () (o)

+1+6
7

_

’/X) == /05 +x*
= )CZ "/O)C —’//

(x+(1)) (2~ (1))

7 /

¥ (() - (1)
+|- 11

~ [0

P

{
(1)($)

(¥)(3)

—_—

M
(1)(n)

!n "7*712
= n?’+{n“7

:!n+7)/n“})

Vo +2%+¢

o +7x4’(

= {:(%/) (X*{)

- —

‘//«/ﬂgchxz

=x*-/0x-1/

- (%v‘/){)cv//)




¢z (¢

35

12) p* =204 - 355
() (39 WZ«Z/// -352°

4—(5’) "(J s)(7
(p ; 2)(p ?7 #) ()2 5o

ro(s) - ()

2 65

(1)(6s) y 2 57/// 4 g//z

<7’+<57:)f/)// véf)f/) ) - (/%S‘ﬁ)[/~/37/i
- (5)-C)

- ¥ I

[
—_—

Xgé) NEF3n0-284"

25
(¢)(28)

(2) (1¢) N 300284
(ﬂ +<;\)A, (fz “6‘ ‘/L> () (7) = (/L+7/y>(/z“ 5%)
(1) - G'L)
+1-¢

+3



g2 7

gé) o{,{,z/g,a,v"’zgﬁy,z 24

(r)(2¢)
<JL+()7/ u-{ ) (2)(12) o
; )( /<7) o W
((/’)/6) %W"

() - ()

—  —

—
———

%> - Ted+ 135" ¥

()(1%)
(e-C)I)e-()F) 0 WW&
> . /
7\ /\ (o’) W 7
-()-C)
72) %z S22 i
-2 (gt -5, -2¢ (2)(12) 5 o 2
” ) (3)(8) Fr54720,

b)) WO T
' (b fo) #lr3)p

+3-3
=3




4.2 Lﬁ

?2) //71,3* §§,n7’+(,l§£h

://71 (nl_,gd'n""%) ¥ //nB,ggan_é;{pn
(1)(¥)
<”’-—(I))(n—*($¢)> (2) () = [[n (nl, S_n-#éé)
7\ 7 =/ln (”“/)[n%&)
- () - ¥) L
-y
_£_— P —

—_—

7%) ‘/%;p 7’//2/3“%07%2 3

< é;/?' (y/z—!— Z% 'g) ((;))(ZiJ 5;/45%/2%3/{&(92
C%*GL)>(%“(Z)> - g%a(%z+2%,g)
/ = 6yt (2t4) (#2)
+ (4) - @) e
+ -2
tg// - - o —

) 74 5,2 4 /{ut 1/
) % ;7/ Syz*/éﬂw‘}’//

C‘)?g) ((@é(/%)(;)% 4—/4//)) () () _ (yﬁ)[;% 1))
*(S’> (1) +(1) (11)

LG+
y/6

g




6.2 2
75)  Tgre S04 +7

.
a)(r)

7
(1)(7) ((7) y«([))((/)/ﬂbﬁ)) THE+S Ob-+7
| f :(7/f+/)[06v+Z)
F(0)0)+0) ()
¥ +¥9
+50, - -
100)  Sxt-1To +6 A
§ (2)(3) Gy 2 [T +6
&) (G -(2)) () *%3 ) ) (’;M) e
NOIOEGIE
7S
17 [ —
_’ /O—Z} /O}L 'S'g% /// "
|0 (l)CI/) Ky ——
i) () + G ) (Ely-() e
()(5) 7 = (54+) (24-11)
+/Z < <9></
7 =55



g 210

10€)  2imt-29m n HOn

y (@‘)M"‘@-)w) ('7)7%—[5.) %) (l)l;w) 2 | 2 nH0n?

(1) (21) r N
(’7)("7) 7\ (2)(5) :(jn Zn)(ﬂ;,
- (7) Cz) - (3 )(§>
—[#-15
-219

/05) bt + S ~IF* "

6 () G%) b+ S (A
(1) (6) ((I)v(,ﬂ"(?’ 1/) (8)ar™ Zq)”/) (2)(7) _ (M+Zv>[é,u“7v/)
(2)(3) 1
r(4) (2) =()(7)
+]2-7
+ S - - -
- //05 _:f/a} 41§32+ 18
1’7(%62‘/75&’Z> ~Sa*+[S3a+/8

““7(7@ [74 -2)

(.fq) (@a+())((1)a @)> Loty =9 (1271) (a-2)
(3)(3)
=)0 ) - )LZ>

-8
-17.




//0) “5,%3~30}Z+35/%/ &Z u

=-5- ( “r 4 ~7>
y/ % 7 3 2
st ~Su 73042435y
C%J”[?» (9" ’//)> =5y (%14’{%“7)
; C’/) 0 <5y 27) (#-1)
T B
+!

7&»//2 //% /// MW@MW/MZ

//57) /thsl/}/// i
(1)(n) z_

(L flér/ '45/03“//
(1) (12) W), (1)) (52— )
oy Qelery el
(3)(¥) —_—

H3)() -())

+2-4¥
L

/20> bt ~bbu =14 {%2’4;/““'/{

=2(3, 23w - 8) mséz) <2 (3ut23a 3)

)6 =2 (3wt («-8)

3
()(?) (G, +( ) (@/MZX) )
v UW@) 68%

+l =2¢
-2



£2 (2
/ZZ> TOn> + 2 n*-2/6n

6n //5%2 *7n“55) 90,3+ 42 0216
= a)i;} < 4n (157473¢)
KB (@r’ﬂ%qn Bl (9)) (e b (57#2) (3.-Y)
(2)(5) ey ——
2 _ (¢)(4)
L) (9)-0)0e)
+2 7 -20
v
/Z%) 24570 -}’/{ﬂyo 7‘?{ 2§!/7—+/({ﬂ7y+?/
3 CX[3W2+Z&W+/Z) : (lL} :g(3772+20/,4/2)
1)(i2
) (6)p+(2) @)w’@)) (2)(4) =8 (3p#2) (p+6)
(3)(¥) —
Y (2) + (3)(4)
+2+/8
10 [ —
/Z({) 30%27L/0S-%V0/& 30%2-/'/05—95 '//0
Z 2/5(22% 4 7~ ¥) 7 2 15 2562+ Ve =)

()2 . ) (1)) (s (tt) (25-1)
)) Qli&é‘%é)% g\/ )) (2)(2) ’-——————/—‘( S“( -
(Y ) 1) 0)
s

+7



[2
[28) 2% +2x%-% 42 (13

5

g Cx2>7’+2 ()-8 e 2 2528
(D) ™ )2
F (@) (2 )  (x24%) (2+TE) (-5
y ¢ -2 074@44«@'» 6. 7
iZ/:—— S .
BO) = 325=20 )55’) x¥-3.%-24
N 2y - (1) (23 < [y? "
2 () By GP+E) (27)
(x 4—@ )(x ij)) el :(xlv#é/){)(%ﬁ')(x-ﬁ)
. Cq U) ofs e ein 63
-7

3 [

S

—_ —
e

—

_ T g )
2) -3 (=-2) -5
132) (x-2) -3 (=-2)-S¢ S ats)ss

(2)(z2) Ry
& (e (6, (1) oy = E )

(6) (%)
OINC )  (p208) (22-1)

v6 -9 e (2+¢) (x-//)
-3

——



] g2 [1¥
/%) (Sf”’) '3(9y“/)—/37 ¥
(1)(13) 25(5‘ /) 7
(G -/)+(g D55 - (; ) 0
(3)ls) = /(5’; ))+3) /(5; /)’/)
+ (3 - C{)

- (S #3) (5571 0)

+3-4
3 =(Sy #2)(Sz-7)
_— —  — 2'—’/;& % 5 32
36) 2= ¥ -
- (1) (32) %Z_,/qp)c/gz
(2)(1¢)

(yub@))@c [/6 (#)(8) = (xt2) (=-1¢)
N @) — 15

U)(%/) @2- 2 ?7,/;,— rx
(p6)0) G-$0n) 88 5

7 3) (3% T e
3) - (32 (¥) (2¢)
r G) (£)08)
+ 73— g’ 2 (3)02/)



(2 1S

/Ql0> ]2 2* '1’3{% “Z(ép/ = /Z(xl 4—3}/—2})

/4%;)— 3%2 "'0///%2 2 M—\
S Ceporgp o LT
+é )( ) *é)( )

/W) §A2+29/L+30 ¢
S (prSatd) a)m G 425430

‘:S(Jbz’v‘gn/*c{
(2+(2)) (2 %3)) - (er2)(ah3)
. (z) - @
+2 +3
b — —
/z/g) 7.t -2 x ZJ_DQ,QEJ—S%/I e
nt /S, T3
WX) wa/éyémlt;m?/) | § ™S m+3
gl)/(()) <65>'m+( ))C@_) +(/ > (c)(l) ) 3(({7)1”5_%”)
%(2 (/)4—@} [ = 3 (3m+1) (2m+])

+ 243
*+S



/5‘0) Zor+Sa+ 2 g2 1€
7

o ((ar( )L )ar) 036 MM

(2)(2) 7‘

L0

/S—Z) Z¢ 7){, "g 9 %?‘7962’“X
= (x?%) '7(;&) -¥ ()(g) = (%Lv‘/)[xzfg)
(= *(l )= ’[zﬂ o - .
- (1) (x+V)(=-13)
+ (/I > — @ ;(ZZ,L/) (Xv"ZJZ)(x-ZJZ)
+1-8 offleu aetonm 6-3
A
IS¢) (xr2)*-25(xr2)- ¥ s¥
(+)(s¥)
((Z+Z> -{'CZ. ))((9(+&)——(Z:7)> (L) (27)
by (3)(/8)
(7_} (27) (¢)(2)
+2-2" [ret2) =25 (%+2)-5 ¢
S ((x+z)+ 2,) [{zn) 27)

e

= (x+2 +L) (z +2-27)

= (x2¢) (x-25)



